



ANTWERP WORLD CUP 2025 (BE)
06-12 October 2025

Rank 16 Groups

Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR	
A	JASPERS Dick	40	29	1.379	2	8	6	
	HOFMAN Glenn	32	29	1.103	0	3	3	
	KIM Haeng Jik	40	22	1.818	1	6	6	
	POLYCHRONOPOULOS Nikos	40	22	1.818	1	9	6	
	HOFMAN Glenn	40	15	2.666	2	9	7	
	KIM Haeng Jik	27	15	1.800	0	6	3	
	JASPERS Dick	40	26	1.538	1	7	5	
	POLYCHRONOPOULOS Nikos	40	26	1.538	1	7	4	
	JASPERS Dick	30	15	2.000	0	7	6	
	KIM Haeng Jik	40	15	2.666	2	8	7	
	HOFMAN Glenn	40	24	1.666	2	5	4	
	POLYCHRONOPOULOS Nikos	31	24	1.291	0	5	3	
Players	Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
HOFMAN Glenn	NL	112	68	1.647	4	9	7	1
KIM Haeng Jik	KR	107	52	2.057	3	8	7	2
JASPERS Dick	NL	110	70	1.571	3	8	7	3
POLYCHRONOPOULOS Nikos	GR	111	72	1.541	2	9	7	4
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR	
B	CHO Myung Woo	40	23	1.739	2	10	5	
	CEULEMANS Peter	38	23	1.652	0	7	5	
	BLOMDAHL Torbjorn	40	30	1.333	2	4	4	
	PENNOR David	39	30	1.300	0	7	3	
	CEULEMANS Peter	40	32	1.250	2	6	6	
	PENNOR David	20	32	0.625	0	4	3	
	CHO Myung Woo	40	15	2.666	2	10	9	
	BLOMDAHL Torbjorn	21	15	1.400	0	6	4	
	CHO Myung Woo	40	21	1.904	2	6	5	
	PENNOR David	25	21	1.190	0	6	4	
	CEULEMANS Peter	40	22	1.818	2	11	6	
	BLOMDAHL Torbjorn	28	22	1.272	0	6	6	
Players	Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
CHO Myung Woo	KR	120	59	2.033	6	10	10	1
CEULEMANS Peter	BE	118	77	1.532	4	11	7	2
BLOMDAHL Torbjorn	SE	89	67	1.328	2	6	6	3
PENNOR David	SE	84	83	1.012	0	7	6	4





ANTWERP WORLD CUP 2025 (BE)
06-12 October 2025

Rank 16 Groups

Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR	
C	TRAN Quyet Chien	40	29	1.379	2	6	4	
	NGUYEN Tran Thanh Tu	22	29	0.758	0	6	5	
	HORN Martin	29	18	1.611	0	7	4	
	FORTHOMME Roland	40	18	2.222	2	9	7	
	NGUYEN Tran Thanh Tu	20	26	0.769	0	5	2	
	HORN Martin	40	26	1.538	2	7	5	
	TRAN Quyet Chien	40	28	1.428	2	7	6	
	FORTHOMME Roland	37	28	1.321	0	6	5	
	TRAN Quyet Chien	29	16	1.812	0	13	3	
	HORN Martin	40	16	2.500	2	10	6	
	NGUYEN Tran Thanh Tu	40	18	2.222	2	13	8	
	FORTHOMME Roland	22	18	1.222	0	5	3	
Players	Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
HORN Martin	DE	109	60	1.816	4	10	7	1
TRAN Quyet Chien	VN	109	73	1.493	4	13	7	2
FORTHOMME Roland	BE	99	64	1.546	2	9	7	3
NGUYEN Tran Thanh Tu	VN	82	73	1.123	2	13	8	4
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR	
D	MERCKX Eddy	31	20	1.550	0	7	5	
	CAUDRON Frederic	40	20	2.000	2	9	5	
	CHA Myeong Jong	27	28	0.964	0	4	3	
	HWANG Bong Joo	40	28	1.428	2	10	4	
	MERCKX Eddy	40	32	1.250	2	7	6	
	CHA Myeong Jong	30	32	0.937	0	5	4	
	CAUDRON Frederic	32	18	1.777	0	9	4	
	HWANG Bong Joo	40	18	2.222	2	9	6	
	CAUDRON Frederic	33	22	1.500	0	8	4	
	CHA Myeong Jong	40	22	1.818	2	11	6	
	MERCKX Eddy	35	20	1.750	0	7	5	
	HWANG Bong Joo	40	20	2.000	2	7	5	
Players	Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
HWANG Bong Joo	KR	120	66	1.818	6	10	9	1
CAUDRON Frederic	BE	105	60	1.750	2	9	9	2
MERCKX Eddy	BE	106	72	1.472	2	7	7	3
CHA Myeong Jong	KR	97	82	1.182	2	11	6	4





Union Mondiale de Billard

ANTWERP WORLD CUP 2025 (BE)

06-12 October 2025

Rank 16 Groups

Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
E	ZANETTI Marco	40	17	2.352	1	11	5		
	SALMAN Gokhan	40	17	2.352	1	11	4		
	KARAKURT Berkay	40	27	1.481	2	5	5		
	KARAKURT Omer	36	27	1.333	0	8	4		
	SALMAN Gokhan	40	24	1.666	2	8	4		
	KARAKURT Omer	38	24	1.583	0	8	7		
	ZANETTI Marco	40	23	1.739	1	11	6		
	KARAKURT Berkay	40	23	1.739	1	6	5		
	ZANETTI Marco	40	30	1.333	1	7	5		
	KARAKURT Omer	40	30	1.333	1	9	5		
	SALMAN Gokhan	40	17	2.352	2	10	7		
	KARAKURT Berkay	20	17	1.176	0	4	4		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
SALMAN Gokhan		TR	120	58	2.068	5	11	10	1
ZANETTI Marco		IT	120	70	1.714	3	11	11	2
KARAKURT Berkay		TR	100	67	1.492	3	6	5	3
KARAKURT Omer		TR	114	81	1.407	1	9	8	4
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR		
F	TRAN Thanh Luc	17	22	0.772	0	3	3		
	BAO Phuong Vinh	40	22	1.818	2	6	5		
	KIRAZ Tolgahan	40	27	1.481	2	12	8		
	LEGAZPI Ruben	36	27	1.333	0	6	4		
	TRAN Thanh Luc	36	24	1.500	0	9	4		
	LEGAZPI Ruben	40	24	1.666	2	7	6		
	BAO Phuong Vinh	40	31	1.290	2	6	5		
	KIRAZ Tolgahan	31	31	1.000	0	7	4		
	BAO Phuong Vinh	34	27	1.259	0	6	6		
	LEGAZPI Ruben	40	27	1.481	2	5	4		
	TRAN Thanh Luc	40	33	1.212	2	7	4		
	KIRAZ Tolgahan	38	33	1.151	0	5	4		
Players		Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
LEGAZPI Ruben		ES	116	78	1.487	4	7	6	1
BAO Phuong Vinh		VN	114	80	1.425	4	6	6	2
KIRAZ Tolgahan		TR	109	91	1.197	2	12	8	3
TRAN Thanh Luc		VN	93	79	1.177	2	9	7	4



ANTWERP WORLD CUP 2025 (BE)
06-12 October 2025

Rank 16 Groups

Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR	
G	TASDEMIR Tayfun	40	26	1.538	2	8	6	
	THAI Hong Chiem	39	26	1.500	0	10	7	
	BURY Jeremy	40	23	1.739	2	10	6	
	GONZALEZ Pedro	38	23	1.652	0	8	5	
	THAI Hong Chiem	40	31	1.290	2	6	5	
	GONZALEZ Pedro	30	31	0.967	0	5	4	
	TASDEMIR Tayfun	40	12	3.333	2	10	6	
	BURY Jeremy	24	12	2.000	0	7	7	
	TASDEMIR Tayfun	40	18	2.222	2	6	5	
	GONZALEZ Pedro	33	18	1.833	0	12	5	
	THAI Hong Chiem	40	18	2.222	2	7	7	
	BURY Jeremy	37	18	2.055	0	14	4	
Players	Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
TASDEMIR Tayfun	TR	120	56	2.142	6	10	8	1
THAI Hong Chiem	VN	119	75	1.586	4	10	7	2
BURY Jeremy	FR	101	53	1.905	2	14	10	3
GONZALEZ Pedro	CO	101	72	1.402	0	12	8	4
Group	Match Players	T-Car	T-Inn	Avg	MP	1st HR	2nd HR	
H	HEO Jung Han	26	29	0.896	0	4	4	
	CATANO Huberney	40	29	1.379	2	8	6	
	SIDHOM Sameh	40	24	1.666	2	5	5	
	JIMENEZ Sergio	27	24	1.125	0	5	4	
	HEO Jung Han	40	25	1.600	2	6	4	
	JIMENEZ Sergio	31	25	1.240	0	4	4	
	CATANO Huberney	18	24	0.750	0	3	3	
	SIDHOM Sameh	40	24	1.666	2	7	6	
	CATANO Huberney	40	26	1.538	2	6	6	
	JIMENEZ Sergio	32	26	1.230	0	6	5	
	HEO Jung Han	39	23	1.695	0	12	8	
	SIDHOM Sameh	40	23	1.739	2	9	4	
Players	Nat	T-Car	T-Inn	G.Avg	MP	1st HR	2nd HR	Place
SIDHOM Sameh	EG	120	71	1.690	6	9	7	1
CATANO Huberney	CO	98	79	1.240	4	8	6	2
HEO Jung Han	KR	105	77	1.363	2	12	8	3
JIMENEZ Sergio	ES	90	75	1.200	0	6	5	4

